
                                        Schematic Catalog 

V1.0 – 03.2021                                                                                                                             54 

 

BC-0203 / BB React 

 

 

 

https://b2bpartner.tusa.com/dump-cap-unit-shoulder-for-bcj-8000c-bcu-239
https://b2bpartner.tusa.com/removable-d-ring-bcu298
https://b2bpartner.tusa.com/weight-loading-cartridge-2pcs-set-awls-iii-kit-bcu303a
https://b2bpartner.tusa.com/weight-loading-cartridge-2pcs-set-awls-iii-kit-bcu303a
https://b2bpartner.tusa.com/tusa-duo-air-2-ss-0002u-bk
https://b2bpartner.tusa.com/strap-tie-for-bc-st-004-02
https://b2bpartner.tusa.com/38mm-single-gate-keeper-2pcs-set-st-004-160
https://b2bpartner.tusa.com/tank-pad-st-004-50
https://b2bpartner.tusa.com/bcj-2100-release-buckle-set-st-004-79


  Schematic Catalog 

V1.0 – 03.2021 55

BC-0203 / BB React 

Model Item No. Description Part No. 

BC0203 

1 

BLADDER BODY XS ASSY. BC0203XS-010 

BC0203 BLADDER BODY S ASSY. BC0203S-010 

BC0203 BLADDER BODY M ASSY. BC0203M-010 

BC0203 BLADDER BODY L ASSY. BC0203L-010 

BC0203 BLADDER BODY XL ASSY. BC0203XL-010 

BC0203 
2 

SHOULDER PAD:XS,S SET BC0203S-050 

BC0203 SHOULDER PAD:M,L,XL SET BC0203L-050 

BC0203 

3 

SHOULDER BELT:XS BC0203XS-060 

BC0203 SHOULDER BELT:S BC0203S-060 

BC0203 SHOULDER BELT:M BC0203M-060 

BC0203 SHOULDER BELT:L BC0203L-060 

BC0203 SHOULDER BELT:XL BC0203XL-060 

BC0203 

4 
WAIST SLIDE PAD XS,S SET BC0203S-070 

BC0203 WAIST SLIDE PAD M,L SET BC0203L-070 

BC0203 WAIST SLIDE PAD XL SET BC0203XL-070 

BC0203 5 RELEASE BUCKLE W50 SET ST-004-79 

BC0203 5-1 RELEASE BUCKLE W50 MALE ST-004-80 

BC0203 5-2 RELEASE BUCKLE W50 FEMALE ST-004-81 

BC0203 6 CARTRIDE HOLDER XS,S SET BC0203S-080 

BC0203 6-1 CARTRIDE HOLDER XS,S LEFT BC0203S-090 

BC0203 6-2 CARTRIDE HOLDER XS,S RIGHT BC0203S-100 

BC0203 6 CARTRIDE HOLDER M,L,XL SET BC0203L-080 

BC0203 6-1 CARTRIDE HOLDER M,L,XL LEFT BC0203L-090 

BC0203 6-2 CARTRIDE HOLDER M,L,XL RIGHT BC0203L-100 

BC0203 7 SIDE PANEL STRAP ASSY. XS,S BC0203S-110 

BC0203 7-1 SIDE PANEL STRAP ASSY. XS,S LEFT BC0203S-120 

BC0203 7-2 SIDE PANEL STRAP ASSY. XS,S RIGHT BC0203S-130 

BC0203 7 SIDE PANEL STRAP ASSY. M,L,XL BC0203L-110 

BC0203 7-1 SIDE PANEL STRAP ASSY. M,L,XL LEFT BC0203L-120 

BC0203 
7-2 

SIDE PANEL STRAP ASSY. M,L,XL 
RIGHT  

BC0203L-130 

BC0203 8 W25 TRI-GLIDE ST-004-207 

BC0203 9 RELEASE BUCKLE W25 SET ST-004-200 

BC0203 9-1 RELEASE BUCKLE W25 MALE ST-004-201 

BC0203 9-2 RELEASE BUCKLE W25 FEMALE  ST-004-202 

BC0203 10 POCKET SET BCU389 

BC0203 
10-1 POCKET BC0203-140 

BC0203 
10-2 SINGLE GATE KEEPER ST-004-160 

BC0203 11 SERVICE POCKET BC0203-150 

https://b2bpartner.tusa.com/bcj-2100-release-buckle-set-st-004-79


                                        Schematic Catalog 

V1.0 – 03.2021                                                                                                                             56 

 

BC0203 12 SAFETY STRAP ASSY. BC0203-160 

BC0203 13 CARTRIDGE BCU303  

BC0203 14 TANK BELT ASSY. BCU370-010 

BC0203 15 TANK CAM BUCKLE BCU370-020 

BC0203 16 TANK PAD ST-004-181 

BC0203 17 W50 TRI-GLIDE ST-004-99 

BC0203 18 REMOVABLE D-RING  BCU298 

BC0203 19 SINGLE GATE KEEPER ST-004-160 

BC0203 20 OCTPUS HOLDER BCU374 

BC0203 21 TUBE (FOR DUMP VALVE CORD) ST-005-223 

BC0203 22 SLIDE GUIDE BELT BCU372 

BC0203 23 BUNGEE CORD Φ4mm ST-005-250 

BC0203 24 DUMP CAP UNIT (FOR SHOULDER) BCU239 

BC0203 25 HARNESS BODY BCU356-010 

BC0203 26 HARNESS HANDLE BCU356-020 

BC0203 27 SIDE_PANEL_SHORT_(L) BCU356-030 

BC0203 28 SIDE_PANEL_SHORT_(R) BCU356-040 

BC0203 29 SIDE_PANEL_LONG_(L) BCU356-050 

BC0203 30 SIDE_PANEL_LONG_(R) BCU356-060 

BC0203 31 TANK RAIL_(L) BCU356-070 

BC0203 32 TANK_RAIL_(R) BCU356-080 

BC0203 33 TANK_RAIL_PAD_(L) BCU356-090 

BC0203 34 TANK_RAIL_PAD_(R) BCU356-100 

BC0203 35 HINGE_SHAFT BCU356-110 

BC0203 36 RIVET Φ7 ST-004-199 

BC0203 37 SCREW M6 BC3100-421 

BC0203 38 NUT M6 BC3100-411 

BC0203 39 BELTSTOPPER(38 ㎜） BCU213-100 

BC0203 40 SCREW M4 ST-003-139 

BC0203 41 LOCK NUT M4 ST-003-140 

BC0203 42 OPEV/INFLATOR/LP HOSE UNIT BCU314 

BC0203 43 APA/OPEV/INFLATOR/LP HOSE UNIT BCU358 

BC0203 44 OPEV UNIT BCU310 

BC0203 45 STRAP ST-004-02 

BC0203 46 DUO AIR Ⅱ/L.P. HOSE UNIT SS0002 

BC0203 47 WASHER ST-003-141 

 

 

 

 

https://b2bpartner.tusa.com/dump-cap-unit-shoulder-for-bcj-8000c-bcu-239
https://b2bpartner.tusa.com/removable-d-ring-bcu298
https://b2bpartner.tusa.com/weight-loading-cartridge-2pcs-set-awls-iii-kit-bcu303a
https://b2bpartner.tusa.com/tusa-duo-air-2-ss-0002u-bk
https://b2bpartner.tusa.com/strap-tie-for-bc-st-004-02
https://b2bpartner.tusa.com/38mm-single-gate-keeper-2pcs-set-st-004-160
https://b2bpartner.tusa.com/tank-pad-st-004-50

